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N.B.

Choose the best choice for the following.

3) llustrations, in-depth answers and diagrams
Attempt the following questions

1) All questions are compulsory.
2) Figures to the right indicate marks.
4) Mixing of sub-questions is not allowed.
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Adjacency
Incidence
Parallel edges
Degree of Vertex
Pendant vertex.
Draw all possible simple graphs with 3 vertice
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Explain with example inserting and seard-ux\l 5

i)

What is the value of the prefix expression +-*235/1234

Attempt the following (Any THREE) (Each of 5Marks)
Define the terms related to graph
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